TOWN OF CHILMARK JOB #2492

CHILMARK, MA

AR e \TIONS VICINITY MAP TABLE OF CONTENTS
@ | at
nc02 | By Coms of Engincers DESCRIPTION DWG [ Sheet #
ALUM. | A Title Sheet | T1 1
x y .
cB | Carriage Bolt :w Overall Marina Layout | OL1 2
. % Senter 1o ® Floating Dock Fabrication Details | F1 - F2 3-4
- enter to Center . 4
CF. | Cubic FoouFeet = ) ) Floating Dock Assembly Details | A1 5
CIP. | CastinPlace Precision Engineered Flotation Systems Steel Fabrication Details | S1 6
CLR. | Clear
CW | Cleat Washer
CONC. | Concrete
CONT. | Continuous
C.Y. | Cubic Yard
* | Degrees
DWG | Drawing
D.L. | Dead Load WARNING:
DET. | Detail BELLINGHAM MARINE INDUSTRIES
@orDIA. | Diameter HAS BEEN NOTIFIED BY ITS WOOD
i PRESERVERS, THAT THE CHEMICALS
E;Es\;. o (Eé“) E::::"" USED IN THE WOOD TREATMENT
: 9 PROCESS ARE KNOWN TO CAUSE
EA. | Each CANGER.
Fab, | Fabrication
F.B. | FlatBar
FH | Flat Head 5 [a]
FRP | Fibre-reinforced Plastic At =)
FT. | Foot ¢ -
ol bl s @ ‘West Tisbury
GALV. | Galvanized . )
; 2 o has CAUTION:
BLE | Glue Laminated Beam 5 -3 - - FLOAT SYSTEMS ARE UNSTABLE
H.D.G. | Hot Dip Galvanized Chilmark WHEN PLAGED IN WATER PRIOR ey
HDPE | High Density Polyethylene o TO ASSEMBLY IN THEIR FINAL
HW | Hardware a. . INTENDED CONFIGURATION. \
HN | Hex Nut MODULES OR SUBASSEMBLIES [
IN. | Inch{es) SHOULD BE HANDLED WITH CARE T M(-E- N \
LBS. or # {after number) | pound(s) DURING INSTALLATION AND SHOULD / EPT\U“ \
LAM | Laminated NEVER BE STOOD OR WALKED UPON 9] 'E_f G
LIN | Linearflineal PRICR TO FINISHED ASSEMELY. / HO\ pFD N \
LG | Long PROJECT LOCATION | —\ pPY WOTED \
L.L. | Live Load \/\ \
LRS | Low Relaxation Strand ...C\IED
LW | Lock Washer \ — A T \
MLLW | Mean Lower Low Water SITE PLAN \ \'/! P\ND \
MAX. | Maximum e
M8 | Machine Bolt \ —\ RV S \
MDPE | Medium Density Polyethylene IMPORTANT LEGAL NOTICE TO PUBLIC =
MFR | Manufacturer These drawings are protected against copying under the \ = (-‘\'ED s
il Federal Copyright Act (17 U.S.C. §§ 101 et seq.) R TENT
l\;‘:‘ Mlllhlmeter Gaining Access to these drawings DOES NOT allow you \ r/\ R ~eiED \ \
MIN. | Minimum to copy and use them for commercial purposes. The — \1 s Rt _]
N.I.C. | Not In Contract Federal Copyright Act preempls state public disclosure 0‘3‘.‘“ Erie _
NO. or # (before number) | Number laws. You have now been expressly notified. The copying \ ‘/\ /
(N) | New of these drawings without the express consent of \ —
MTS | Not To Scale Bellingham Marine Industries, Inc. for the purpose of N
QA | Overall using the design for commercial gain is a willful violation \ =) /
OAW | Overall Width of the Federal Copyright Act. Bal!lngham Marine Industries,
Inc. will take all necessary actions to protect its rights.
0O.C. | On Center —
QOPP. | Opposite
% | Percent
: witinng,,
%+ | Plus or Minus K 1,
\ ’
PL. | Plate o O\: MA R }2’ .,
PCF | Pounds per Cubic Foot » N e ‘
P.0.C. | Point of Connection V’“\@ Y HURE;: .59
PSI | Pounds per Square Inch
PVC | Polyvinyl Chloride
PW | Plate Washer
REINF. | Reinforced, reinforcement
REQ'D | Required
SQ. | Square - -
SQW | Square Washer Be“lngham 2‘5‘;‘ '.::.E.:x :'::e This drawing contains proprietary information which is the property of
S.F. | Square Foot Yark, PA 17408 Bellingham Marine Industries, Inc., and shall not be copled, reproduced
ST qu 43 TEL: (717} 793-8520 of made available to third parties without prior written permission from
SIM. | Similar 22 A h & FAX: (717) 7928521 Bellingham Marine Industries, Inc. UNIFLOAT®, UNIDECK® and &
SHT. | Sheet k) : Ballingham Marine Indusiries, Inc.
s.8. | Stainless Steel N Tha Wixkis Mol Gatpmitarse
T.0.C. | Top of Concrete YA T TEVISIONS
T.0.S. | Top of Slope — — _] Development Services D
TYP. | Typical | DATE | DESCRIFTION | BY
) Title Sheet
THK. | Thick
UHMW | Ultra High Molecular Weight | [R—
VERT. | Vertical DATE
W.W.F. | Welded Wire Fabric [ACCEFTED BY: rus
w/ | with [FEVIEWED BY: L —
W. Wide ICHECKED BY- : 1 6
XHW | Extreme High Water AREA OF WORK DATE - DRAMING T 1
XLW | Extreme Low Water e ™ 112118



Bill
Pencil

Bill
Pencil


3/4"d x 8'-4 1/4" H.D.G.
THRU-ROD TYP.

(@ 3-3/4" & 8-3/4"
FROM FLOAT DECK)

(1)4"@ PVC SLEEVE(TYP.)

80'-4 1/2"

5"x5" BLOCKOUT
(TYP.)(ELECTRIC)

PILE HOOP(TYP.)
(PH-A & SPH-B)

] \
|| 412150 412200 |[ \ || 412200 412200 | ] 41250 |
I 4126 | 412200 LU | | U 420 | | CoE #12:200 | | | 4115 | - -
: g £ £
N - 5 730 ) /50 i
W ® 710P3Gi 71OP3PC 710P3 710P3 710P3PC 710P3 710P3 710P3PCi g
AN
I 1 O P N PSR PP N P
E\l 12" H.D.G. (3)4"d PVC 3/4"D x 3-1/4" S.S. STUD
" D-FENDER
— ) ) CLEAT TYP. SLEEVES (TYP.) ?GREY)TYP 1730x15 W/ LOOP INSERT TYP.
3/4"@0 x 3-1/4" S.S. STUD (FIELD INSTALLED) ' J-BOXTYP. (@ 3-3/4" DOWN
< W/ LOOP INSERT TYP. (ELECTRIC) FROM FLOAT DECK)
-1 (@ 3-3/4" DOWN
O FROM FLOAT DECK) @
GANGWAY
(BY OTHERS)
PROJECT NUMBER: SCALE:
3/16"=1"-0"
<J\j 2492 DRAWNBY: o 5
NGINEER / DESIGNER:
. PATE: 11-21-16
REVISIONS Bellingham SITE IMPROVEMENT PLAN S )-
NO. | DATE DESCRIPTION BY ACGEPTED BY: TOWN OF CHILMARK < PROJECT MANAGER: SHEET NO -
O re— ' DATE MENEMSHA, MA _ ) 2
Northeast iision ! s ' SETTITEESA CHECKED BY: .
T “”'DE°K"§U.“:‘F’L§SST'T"“m e DATE OVERALL DOCK LAYOUT B PRAWING:oL1



Bill
Pencil

Bill
Pencil


3/8"@ x 3-1/4" TYPE 316 S.S. STUD

W/ S.S. HEX NUT & FLAT WASHER

@ FLANGE *2 EACH FOR SECURING TO
FLOAT DECK(FIELD DRILL/EPOXY)
(RECOMMENDED EPOXY:

POWERS FASTENERS
AC100+GOLD-0DEG ADHESIVE)

3/8"@ x 3-1/2" H.D.G. LAG BOLT
W/ FLAT WASHER @ FLANGE

CLEAT
(SEE LAYOUT FOR SIZES)

4" GALV. SPLIT RING (PER

STRUCTURAL CALCULATIONS)

3/4"0 H.D.G. THRU ROD

84 1/2" OVERALL *2 EACH FOR SECURING TO 4" GALV. SHEAR PLATE (PER
[ | | WALERS(FIELD INSTALL)
~—81/2" 611 1/2" CONCRETE — 8 1/2"— STRUCTURAL CALCULATIONS)
2 (3)4'3 PVC | ||
= (ELECTRIC) k=
(2)4 x 12 P.T. SYP WALERS z SLEEVES TYP. g FLOAT DECK
(TYP. EA. SIDE) = g
o CONDUIT AS NEEDED =] £ -
3/4" H.D.G. THRU RODS w Yo
(PER STRUCTURAL CALCS.) L >3 >
- ™
AN I\ / ® @ @ T ~
VTV ) 5 B
A A z%<
// \\ // \\ ] 9 § _+I K
[TV Y o Lo Y
aus
w

2x12 COVER BOARD

il1<]

\3" D-FENDERING

(GREY)(FIELD INSTALL)

DETAIL
N.T.S.

\2x12 COVER BOARD

(24 x 12 P.T. SYP WALERS

1/2" M.B. w/ HN, LW, CLEAT
WASHER(2 per CLEAT)

(OUTBOARD SIDE ONLY)

1/4" x 1 1/4" H.D.G. STRIP WASHER

T —3/8"D x 3-1/2" H.D.G. LAG BOLT
2 @12" o.c. W/ FLAT WASHER

8 5"x5" BLOCKOUT -
F TYP. T
< = o
SOLID POLYSTYRENE CORE e (144"3 PVC o>
5 (ELECTRIC) =
Ijé SLEEVE TYP.
GALV. W.W.F., (TYP.) TOP + BOTTOM
EPOXY COATED REBAR REINFORCING 3/4" NOMINAL COVERAGE
3/4" NOMINAL COVERAGE \
e \ o _i.a
2 j = E
1" | f——
(TYP.)
/17 TYPICAL FLOAT SECTION
3x END BOARD @ NTS.
FLOAT DECK
3/4" S.S. INSERT
NOTES:
% 1.) ALL HARDWARE TO BE HOT DIPPED GALVANIZED
UNLESS NOTED OTHERWISE.
¥ \ 2.) ALL CLEATS ARE TO BE HOT DIP GALVANIZED.
=< : 3/4"@ S.S. STUD )
'_
it 3.) CLEATS MUST NOT STRADDLE THRU RODS.
4.) ALL DOCK FENDERING TO BE INSTALLED
AROUND PERIMETERS OF BERTHING AREAS
DURING INSTALLATION.
~
DETAIL <)\l
REVISIONS Bellingham  moaugconans | SITE IMPROVEMENT PLAN
NO. | DATE DESCRIPTION BY o are mavaries, mo_and TOWN OF CHILMARK
shall not be copied, ACCEPTED BY:
The World's Mos! Comprahensive reproduced or made available DATE MENEMSHA, MA
Marina Buider to th?rd panies»wi%hou( prior
225 Hanover Road Bellingham Marne Incarcs, TR
York, PA 17408 Inc. UNIFLOAT®, ACCEPTED BY:
Fh ) rasosst e nsrcs e DATE FABRICATION DETAILS

PROJECT NUMBER: SCALE:

N.T.S.

2492 DRAWN BY:

S.G.

INEER / DESIGNER:
) DATE: 11.21-16

PROJECT MANAGER: SHEET NO.-

3

CHECKED BY: DRAWING:

F1



Bill
Pencil

Bill
Pencil


14 GAUGE 2"x2" GALV. W.W.F.

3/4" NOMINAL COVERAGE

(TYP.) TOP + BOTTOM \

PVC SLEEVE FOR
| —"" THRU-RODS TYP.

\ #3 EPOXY COATED REBAR REINFORCING
|~ @ VERTICAL BEAMS TYP.

2"x2" CHAMFER TYP.

/ @ EACH CORNER

L 53/4"

(TYP.)

"
TT(TYP) T

2"x3" VERTICAL BEAM TYP.
SPACING 48" 0.C. MAX
@ SIDES & ENDS

TOP VIEW FLOAT SECTION

2"x2" GALV. W.W.F.
(TYP.) TOP + BOTTOM

23" VERTICAL 3/4” NOMINAL COVERAGE

BEAM TYP. (#3 MINIMUM) EPOXY COATED
REBAR REINFORCING 3/4" NOMINAL
COVERAGE @ TOP PERIMETER 2"x3" VERTICAL
1"RTYP. 3"x3" CHAMFER TYP. BEAM TYP.
TOOLED EDGE @ TOP SIDEWALLS
AROUND PERIMETER PVC SLEEVE FOR
2" L= L~ (#3 MINIMUM) EPOXY COATED THRU-RODS TYP.
(TYP.) & Qo REBAR REINFORCING 3/4" NOMINAL
ok ~E COVERAGE @ TOP PERIMETER \
i i ¥ " 3‘; 2'%2" CHAMFER TYP. Ny / /
i o / . I S @ EACH END TOP & BOTTOM X
o ——10 o o !
P
£ .
o o} o] o s
f f-& 7
s ’i e
© E (TYP.)
2"x2" CHAMFER TYP.
@ BOTTOM \
N
g
[ (#3 MINIMUM) EPOXY COATED
m ‘ REBAR REINFORCING 3/4" NOMINAL
Typ)y COVERAGE @ BOTTOM SIDEWALLS
#3 EPOXY COATED REBAR REINFORCING
@ VERTICAL BEAMS TYP.
END VIEW FLOAT SECTION

SIDE VIEW FLOAT SECTION

UNIFLOAT CONSTRUCTION

PVC SLEEVE FOR /

(#3 MINIMUM) EPOXY COATED
REBAR REINFORCING 3/4" NOMINAL
COVERAGE @ TOP PERIMETER

N THRU-RODS TYP.

22" GALV. WW.F.
(TYP.) TOP + BOTTOM )
3/4" NOMINAL COVERAGE

UNIFLOAT

GALVANIZED HEX NUT
TYP@ EACH THRU-ROD

GALVANIZED LOCK WASHER
TYP@ EACH THRU-ROD

GALVANIZED DOCK WASHER
TYP@ EACH THRU-ROD

SOLID POLYSTYRENE CORE

CONSTRUCTION

LIGHT WEIGHT
CONCRETE SHELL
(THICKNESS VARIES)

GALVANIZED 3/4"@ THRU-ROD
QTY. AS REQUIRED BY DESIGN

(A

TOWN OF CHILMARK
MENEMSHA, MA

.
REVISIONS Bellingham This drawing contains SITE IMPROVEMENT PLAN
proprietary information which
NO. | DATE DESCRIPTION BY iiﬂ‘h? P“I)Pde“); of BT'"”Q“"’Z‘
arine Industries, Inc., an
shall not be copied, ACCEPTED BY:
The World's Mos! Comprahensive reproduced or made available DATE
Maving Builder to third parties without prior
Northeast Division written permission from
225 Hanover Road Bellingham Marine Industries,
York, PA 17408 Inc. UNIFLOAT®, ACCEPTED BY:
TEL: (717) 793-8520 UNIDECK® and © Bellingham DATE

FAX: (717) 793-8521

Marine Industries, Inc.

FABRICATION DETAILS

g oy

‘\||Illl““l

PROJECT NUMBER: SCALE:
N.T.S.
DRAWN BY:
2492 S.G.
GINEER / DESIGNER: | .

11-21-16

PROJECT MANAGER:

SHEET NO.: 4

CHECKED BY:

DRAWING: F2



Bill
Pencil

Bill
Pencil


NON SKID BROOM FINISH
TRANVERSE TO WALKING SURFACE

WALER SPLICE GAP 1/2" +/-1/4"
LOCATED AT CENTERLINE
OF FLOAT MODULES

PICTURE FRAME FINISH
1/2" RADIUS EDGING

WALERS(SIZE VARIES)

< WOOD RUBSTRIP NAILED ON
WITH 16d NAILS AT 12" O.C.

/ GALVANIZED 3/4"@ THRU-ROD

SIDE PILE HOOP
AL

ASSEMBLY

FRAMES ASSEMBLED IN THE SAME
MANNER AS SHOWN

NOTES: SOME HIDDEN ITEMS MAY NOT BE SHOWN FOR CLARITY

m\ H.D.G. PILE HOOP

QTY. AS REQUIRED BY DESIGN PILING
(BY OTHERS)
FLOAT
RUB BOARD 3/4"@ THRU ROD
/ w/ HN, FW & LW
SOLID POLYSTYRENE -~ GALVANIZED HEX NUT
CORE TYP@ EACH THRU-ROD
LIGHT WEIGHT < )~ GALVANIZED LOCK WASHER
CONCRETE SHELL TYP@ EACH THRU-ROD . b [
(THICKNESS VARIES) [ [
(
GALVANIZED DOCK WASHER o st e W H H
WALERS "D x 3-1/2" M.B.
Il Il
\ W/
\ L\ BT
valeiein S ] O
A /"\\ =
[\ [\
LALLY
WALKWAY ASSEMBLY CONSTRUCTION FATTP
H.D.G. PILE HOOP
SECTION A-A
RULILIT PROJECT NUMBER: SCALE:
U OF MAap i, N.T.S.
\ e X "J/< ’,
& 2492 DRAWN BY: S.G
- @EER/DESIGNER: DATE: 11.21-16
REVISIONS Bellingham  moaugconans | SITE IMPROVEMENT PLAN Qb
3 is the property of Bellingham -
NO. | DATE DESCRIPTION BY y Ma’;”:z:,”p:(ffy‘;;e;;;;ga"“ ACGEPTED BY: TOWN OF CHILMARK PROJECT MANAGER: SHEET NO - 5
The World's Mos! Comprahensive reproduced or made available DATE MENEMSHA, MA
Marina Buider to th?rd panies»wi%hou( prior N A -
Northeast Division it permission fom o CHECKED BY:
B o o UNIFLOAT®, " | ACCEPTED BY: ’ DRAWING: A1
it et O e mustios e DATE ASSEMBLY DETAILS ~



Bill
Pencil

Bill
Pencil


10" HOLD

f

FABRICATE FROM ASTM A-36 STEEL.
HOT DIP GALVANIZE AFTER FABRICATION
IN COMPLIANCE WITH ASTM A-123-08.
STAMP OR TAG PART |.D. ON EACH WELDMENT.

ITEM:

QUANTITY

PH-A

8

FABRICATE FROM:
A - 2"Q@ SCH. 40 PIPE

9/16"Qd HOLES

(TYP.)

3/8"0 VENT HOLE
4

— -

3/8" ———=—

9/16"d HOLES 1

IS0 OC INSPECTION

DATE CHECKED
S COMPLETED |

NITIALS

DRAW ING REVIEW

MATERIAL TAKE OFF
ORDER

PRE-W ELDOUT CHECK

FABRICATION CHECK

GALVENISATION
RETURN CHECK

(C STICKERED

(€ CHECK SHALL CONFORMTO F-148-11-2003

(TYP.)

‘ 1-11/2"

— 13

T
lol
|

3"
|

_
? o o [S) [S) ©o\ ?
L*G SPACES @ 6" ‘ ‘
3-6" \

13/16" x 1-1/2"
SLOTTED HOLES (TYP.)

FABRICATE FROM ASTM A-36 STEEL.
HOT DIP GALVANIZE AFTER FABRICATION
IN COMPLIANCE WITH ASTM A-123-08.
STAMP OR TAG PART I.D. ON EACH WELDMENT.

ITEM:

QUANTITY

SPH-B

8

FABRICATE FROM:
A - 3/8" PLATE
B - 1-1/2"@ SCH. 80 PIPE

NOTES:
BREAK ALL CORNERS

IS0 OC INSPECTION

STAGE

DATE CHECKED
COMPLETED

INTIALS

DRAW ING REVIEW

MATERIAL TAKE OFF
ORDER

PRE-W ELDOUT CHECK

FABRICATION CHECK

GALVENISATION
RETURN CHECK

(C STICKERED

(IC CHECK SHALL CONFORMTO F-I48-11-2003

The World's Most Comprethensive

Marina Buiider

Northeast Division

225 Hanover Road
York, PA 17408

TEL: (717) 793-8520

FAX: (717) 793-8521

Marine Industries, Inc., and

shall not be copied,

reproduced or made available
to third parties without prior

written permission from

Bellingham Marine Industries,

Inc. UNIFLOAT®,

UNIDECK® and © Bellingham

Marine Industries, Inc.

REVISIONS Bellingham  moaugconans | SITE IMPROVEMENT PLAN
NO. | DATE DESCRIPTION BY is the property of Bellingham

ACCEPTED BY:

DATE

ACCEPTED BY:

DATE

TOWN OF CHILMARK
MENEMSHA, MA

STEEL FABRICATION DETAILS

g oy

PROJECT NUMBER: SCALE:
N.T.S.
DRAWN BY:
2492 sG.
EER / DESIGNER: )
j DATE: 11-21-16
PROJECT MANAGER: SHEET NO.- 6

CHECKED BY:

DRAWING: 81



Bill
Pencil

Bill
Pencil


	2492_1_T1_112116
	2492_2_OL1_112116
	2492_3_F1_112116
	2492_4_F2_112116
	2492_5_A1_112116
	2492_6_S1_112116



